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U.G. 2nd Semester Examination - 2021

CHEMISTRY

[HONOURS]
Course Code : BCEMGEHC7A

Course Title: States of Matter and Chemical
Kinetics, Chemical Bonding and Molecular

Structure, P-Block Elements
Full Marks : 30 Time : 2 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 1x10=10
F-(IC vifls Aears Tea mie ¢

a) If the unit of rate constant for a specific
reaction is sec ', what is the order of that

reaction?

I @ RT3 G AT, O
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b) Write down the Bragg's equation in
crystallography.
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g)

h)

i)

k)
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What is meant by critical temperature?
&G T 0 5 (A1l

Define surface tension.

YOI F<ee WG |

What is pseudo first order reaction?
vy 2 @ R e

What is the dimension of coefficient of

viscosity?

TS QNS T 2

Can the molecularity of a reaction be fraction?

g Sl FI oo 309 A ?

What is the state of hybridization of central
atom S in SF?

SF, (051 (@ #1301 S O AN 1 2
Which one has higher dipole moment value
NH, or NF;?

NH, @ NF, @3 325 19 [0 Qeea S (@41 2
What is Nessler's solution?

(PTRT T 2

Between BCIl; and NH,, which one is an

electron deficient compound?

BCl, @38 NH, €3 & @0 3ERE qibie J&
EIRE
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1) Determine oxidation number of S-atom in
H,SO,.
H,SO, @itsl S-93 &ief w2t ez 4|

m) Between F, and Cl,, which one possesses
higher bond dissociation energy.
F, @3¢ Cl, 93 e 3% Res *few 9= i
N 2

n)  Which one has higher melting point SnCl, or
SnCl?
SnCl, @< SnCl, @9 T (IO STl (41 2

o) Among BeCl,, CO,, SO, and H,C, which one is
not linear molecule?
BeCl,, CO,, SO, @3k H,C, @3 5 i (q1eifs
[GIRSREN

2. Answer any five questions: 2x5=10

-] B aoss Tea s ¢

a)  H, does exist but He doesn't — Explain.
H, @9 ¥y itz &g He g @iy 72 - <l
R

b) Compare the basicity of H;PO,, H;PO; and
H,PO,.
H,PO,, H,PO, @& H,PO, €3 FHAZeId weft
Rl
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d)

g)

h)
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Compare the hydrolysis product of NCI; and
PCl,.
NCl, @38 PCl, 93 SIGRReR 9l 34 |

L, is insoluble in water, but is soluble in aqueous
KI solution — Explain.

I, &te1 Sy, € K1 @3 w@iw g aft a:ky -
1T P |

A first order reaction is 25% complete in
20min. How long will it take for 75%
completion?

@3 22w @ [fas 25% 5o zoe 20 [ G
R Al | RfEa 75% 75 2re T T
BIRICE

What is the effect of temperature on viscosity

of gas?

PR AT T2l TR0 A F 2

If a plane in a crystalline solid intersects the
crystallographic axes at (2a b ¢). Find the Miller
index of that plane.

AT GF(0 Oa1 foxlb S (2a b ¢) TA0Y (A
I | @ ©A6A e o el 41|

What is the ratio of most probable velocity and

roof mean square velocity?
S8 TSIRT (51 43R I9(QACO 9N ([0 SgolTS
FG?
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3. Answer any two questions:

5x2=10

@I 7o Arsid Ted WG

a) 1)
ii)
b) 1)

iif)
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Write short note on inorganic benzene. 3
BIF! (FTC4ll ¢ Siter (afg

What is Chlorofluro Carbon? Mention one

of its applications. 2

FAFETE F1 2 97 96 92K e 79 |

Determine Boyle temperature for a van der
Waal's gas. (Given a=4.5atm [’mol?,
b=0.9L mol” and R=0.082L atmmol'k" .

2
GG SICI SEPT SIETE e TRl o
Rl
(276 a = 4.5atm [*mol >, b=0.9L mol” «z¥
R=0.082L atmmol’k™)
What happens when aqueous solution of

sodium thiosulphate is added to an iodine

solution? Give chemical equation. 2

NG AT Tl 939 SIEGEa
R GIITE I GH(F 2 ANFAPTR (& |

What is interhalogen? 1

SIS 12
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c)
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i)

How the activation energy of a reaction may

be determined experimentally? 3
W Freica 96T Fa1 @0 A e

What is inert pair effect? Explain with

example. 2

26 (PRI GTFF 2 SRR RGN AT |
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